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€. Please give the following definition A A S MR (F 2 RIREAT —BURARE (A T AURE S
(1) Linearity (4%)
(2) Time-invariant system (4%)
(3) Transfer function (4%)
(4) Characteristic root (4%)
(5) Gain margin and phase margin (4%)
7. Please find the transfer function between y; and y;. (20%)

Gs
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% Y
~-H,
7. Consider a closed-loop system with unity feedback has a open-loop transfer function
G(s) = 20(s +2)
(1+2s)(s +8)

(1) Determine the closed-loop transfer function M(s). (5%)
(2) Draw the Bode diagram of G(s) roughly, including magnitude and phase vs. frequency with semi-log

scale for the frequency axis. (15%)

0 6 .
], please find its eigenvectors and eigenvectors. (15%) Is the system

< Given the state matrix 4 =[

stable? Why? (5%) .
‘:\’_ . Please try to program 1-bit and 4-bit full adders. (20%)





